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If so; what does the verse teach by saying, ‘do not eat by it’, etc.

OVERVIEW

w"9 argues with >"1 (who maintains that y»m is 72°9X2 7108 on "y after mxn) and
states that y»r cannot be MOX on 5"y since the P10 states' Nyaw ynn 19V 2IRN XY
mEn oY 98N oon; indicating that the ynm MR is only for seven days.” w'"a
continues and asks yan 1%y o980 X2 2"'n 1 "X and answers that (only) when there
1s a requirement to eat 71X (which is only on 109) is there a prohibition to eat ynm.
Our MpooIn unravels this seemingly complex statement of w"A.

- 501 Pwhn
The syntax of ¥"7 is problematic.

mooIn responds:
= XM PHY HINN 9N 925 XDNY IWITD 91T DNYAN 12 PYNY 1139 NI

And it is the view of the X''aw9 that this is the explanation of v"9; he begins by
asking, how can y»nn be 5"y 10X, but does it not already state »>8n oo nvaw

nIzn PYY -
- NP NDD NYIINN T3 Y 1YY NYIP)

And that word 1%¥ perforce is referring to the eating of the rop y27p, therefore -
- D9 NN NYUN M) IND \AN 1YY SINN Y 3123 590

This 1oy of yar 199y %o8n X also refers to the time of eating the nod 12775 which
is at night.

' 3,70 7 01T,
? This is presumably how n9oI initially understood the X»3 (as evident from his comment P17 W27)
? See ‘Overview’. Initially w"1 stated that we know that y»r is MK only on o9 since the 710 writes 19Y 998N XY
"3 oo nyaw yan (we derive it from o nyaw). Later (when w'" answers his question %Y 2980 X2 %"n 7 3"X) he
derives it from a wp*n (or from the word 1%y which refers to the %% [and 109 J277] which is mentioned in the PI0D),
that only when one eats 7¥» is one prohibited from eating ynr. Does w"1 derive his ruling from o°»° nyaw, or from
the wp>1 and/or v7v? Alternately, what does ¥ mean with his question 21 7"n 72 3"X, we need the 109 of 2980 R?
19y to derive that yar is 70X only on 105 as w1 just said in his refutation of >".
* All agree that the 73 n9°2X 211 is only at night, as is the 21 of 70 J27p N2K.
> It would seem that w"9 is responding to >"9; saying that y»r Y9y %3Xn X2 cannot mean 1097 MY MY NYwa (as *"
maintains) since the P10 also states M1¥n 1%y 958N 0> Nvaw and that Y%¥ certainly means nooi n2°58 nywa therefore
yan 1Py DaRn X2 9'n an 0"K (what does this 19Y mean), obviously (according to w"9) nos7 n?°3X nywa. However
continues ¥"7 even if this is not a solid proof, nevertheless there is the wp>n from 71 N?°IK to yan N?°2K; that they
are both effective only noo 992 (not before). [This answer is more appropriate if we understand Mo question
(P17 o) they way it was explained in the ‘alternate’ manner in footnote # 3.]
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NN asks:
= 17753 NN HANN Y22 NIV NN NN *INY NIP TPI0NN *NIAN VP

And there is a difficulty; why is it necessary for w"1 to expound the 2122 for this
purpose that the yan N8 70K begins (only) at night, since from where can we
derive that there should be a prohibition of y%n %2xn ¥2 on the fourteenth of 101 -
YNV 5297 XN *109Y 1399981 INID 17919 XAT
For all the 2>»02 (which °"1 cites in order to derive the 7"°2 y1an N2°OX 70°KR) are

deemed necessary according to @''" later (in our xn3) to teach us other laws, so there
is no extra Pod to prohibit 7"2 ynan N7, that we should need a 7% to permit it. Our MdOIN
does not answer this question.’

SUMMARY

w" compares the 1°9¥ from Y1 12y 9580 X7 to the 15y of M¥n 1oy o8N 07 Nvaw
that just as by mx» the 1%y refers to nod 97K, similarly the Y59 by ynm 1oy 2ok X7
refers to oD N7IN.

THINKING IT OVER
Is m»doin (final) question (the 7wRY) related to the way the X"2w1 explained w'", or
is it an independent question regardless of how we understand w"2?

65" (who maintains 2 is 79°9X2 TOX even 1117 2197 and 1377 XY ) derives the 117 *19% ¥n MOX from the fact that
the 770 wrote three times the ynn N9°2R MK one for 13271 710 and the other two for 1117 °19% and 13771 IMRY. However
w"7 explains the need for the extra two 2°105 (one for X 727 KA yannl and one for °%x 105 that XM 1R XMN
'R O X?X), so there are no extra 2’105 to prohibit Y either 137 *15% or 131 INKS.
" See w"x7 MOOIN ,1"7 w17 and w"w, ete. for their respective answers on N20IN question.
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